
1 

 

 

 

Alcatel / Adixen 2033CP Major Repair / Rebuild Kit, 65061 

DESCRIPTION PART NO. QTY 
Viton Valve A53443 3 

Coupling A54091 1 
Oil Case Gasket A54128 1 
Exhaust Valve A54134 1 

Spring A54145 1 
Spring  A54149 1 

Membrane A54196 1 
Clapper A54224 1 

Oil Pump Vane A65044 1 
Felt Pad  A65059 1 

Sight Glass A65079 1 
Spring A65148 1 
C-Clip A71188 2 

Flat Washer M5 A73304 2 
Waved Washer M6 A73454 21 
Waved Washer M8 A73455 23 

Waved Washer M10 A73456 4 
Socket Head Screw A75024 1 

C-Clip A76261C 1 
Viton Shaft Seal A79101 4 

O-Ring A79134 2 
O-Ring A79136 1 
O-Ring A79137 4 
O-Ring A79303 2 
O-Ring A82007 4 
O-Ring A82013 1 
O-Ring A82015 1 

 



2 

 

 

Alcatel / Adixen 2033CP Major Repair / Rebuild Kit, 65061- Parts List (cont.) 

DESCRIPTION PART NO. QTY 
O-Ring A82022 1 
O-Ring A82024V 4 
O-Ring A82025 2 
O-Ring A82027 2 
O-Ring A82039 4 
O-Ring A82056 1 
O-Ring A82067 2 

Plastic Drain Plug A82604 1 
Fill Plug A82925 1 

1st Stage Vane A87941G 2 
Vane Spring A87942 9 
Valve Spring A87954 3 

2nd Stage Vane A87996G 2 
 
 
 

A & J Vacuum Services, Inc. 
790 Bloomfield Ave, Suite B3 

Clifton NJ 07012 USA 
973-249-0854 

 
 
 


